Name: ______________________________
Math I

Unit 2 Recap Due
Directions:  Complete each of the following on a separate page.  Make sure it is organized and easy to read!  Put only your solutions on this page.
1. Find the slope given the following points.
a) (8, 3), (2, 5) 
b) (-2, 5), (2, 9)
2. Write an equation in slope-intercept form given the following information.

a) m = -2, b = -3
b) (4, -6), m = 3
3.
Graph using the table below.
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What does the y-intercept represent?

A. The weight of each marble

B. The weight of the jar by itself

C. The number of marbles when the weight is 0 grams
D. The number of marbles when the weight is 10 grams





a)
y = x + 4




b)
2x + 2y = 8

	x
	Y
	
	x
	y

	0
	
	
	0
	

	1
	
	
	1
	

	2
	
	
	2
	


4.
Graph using x- and y-intercepts.



a)
4x + y = 8




b)
-2x + 6y = -6
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5. Graph using slope and y-intercept.



a)
y = 3x – 2




b)
y = -1/2x + 1




slope:





slope:




y-int.:





y-int.:

6. Graph the following equations.

a)  x = 5 
b) y = -2

Use for 7 and 8:  Given the line, y=2x+1:

7.  Write the equation of the line PARALLEL to the line and passes through the point (4, -3).

8.  Write the equation of the line PERPENDICULAR to the line and passes through the point (4, -3).


Use the graph at the right for 9 and 10.

9. Write the equation of the line PARALLEL

     to the graph at the right and

     passes through the point (-6, 4).

10.  Write the equation of the line PERPENDICULAR
     to the graph at the right and

     passes through the point (-6, 4).

11.  What is the equation of the line that passes through the point (-1, 4) and has a zero slope?

12. Write the equation of a line that has an undefined slope and passes through (3,-2)

13.  Given the following patterns, finish each table and write the function rule:

	X
	1
	2
	3
	4
	
	n

	Y
	1
	3
	5
	
	19
	


	X
	0
	1
	2
	3
	
	n

	Y
	3
	6
	9
	12
	21
	


14.   Determine if the following is a linear function? Why or why not?  If it is linear, write the function rule (equation).  

	          x                                                                           
	          y

	          1
	          6                                             

	          2
	          8

	          3
	        10

	          4
	        12


	          x                                                                           
	          y

	          1
	          3                                           

	          2
	          9

	          3
	        27

	          4
	        81


15. Write a function rule for the following:  The cost, C, if a plumber charges $89 for a house call plus $50 per hour, h, to repair a sink.
a.  What is the meaning of the slope?           b.  What is the meaning of the y-intercept?

16.  The cost of an ice cream sundae can be modeled by the function:  C = .5t+3, where
· C is the total cost for the sundae

· t is the number of toppings
a. What does the rate of change represent?

b. What does the y-intercept represent?


17.  

18.  Compare the slope of f(x) = -2x + 3 and the slope of the chart of g(x) below:

	x
	2
	4
	6
	8

	g(x)
	-8
	-2
	4
	10


What is the positive difference between the slopes of f(x) and g(x)?

[A]  1                      [B]  5                  [C]  8                     [D]  17

19.  Gregory teaches martial arts. He charges a one-time processing fee of $5.00 and the cost of the classes is shown below. Let x represent the number of classes and y represent the cost of classes. 

	Number of Classes, x 
	1 
	2 
	3 
	4 

	Cost of Classes(not including processing fee), y 
	$15.00 
	$27.00 
	$39.00 
	$51.00 


Based on this information, what will it cost to take 10 classes?

[A]  $123                      [B]  $128                  [C]  $118                     [D]  $153
20.  Jerami is going to deposit an equal amount of money into a checking account each month until he has saved $2,000. The amount of money, y, in the account after x months can be modeled by the equation y = 35x + 250.   What does the slope of the graph of the equation represent?

[A] The amount of money deposited monthly 

[B] The amount of money originally in the account 

[C] The number of months it would take to earn $250 

[D] The number of months it would take to reach $2,000 
21.  Find the range of the function represented in the graph. 


[A] The range consists of values from -5 to 3. 

[B] The range consists of values from -4 to 6. 

[C] The range consists of values from -5 to 6. 

[D] The range consists of values from -4 to 3.

22.  Which equation represents the line passing through the points (3, 2) and (–9, 6)? 


[A] x – 3y = 9 


[B] x + 3y = 9 


[C] 3x – y = -9 


[D] 3x + y = 9

23. Which of the following represents the linear equation 3(x+2) = 12 – 2y in standard form?

[A] y = -3/2x + 3

[B] y = 3/2x - 3

[C] 3x – 2y = 10

            [D] 3x + 2y = 6

